\\\\

F] S HBON E & INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB21316

// Fits: Fishbone Offroad Tackle Racks
Tackle Rack Bike Mount Brackets

Wy

L¥0 OO

00

CamHock NOT inchuded

QTy
1
1
4
4
4
4
J:

REQUIRED TOOLS KIT CONTAINS
19mm Socket Cam-Lock Mount
Wheel Chock Mount
M12 Carriage Bolt
M12 Hex Nut
M12 Lock Washer
M12 Carriage Bolt Washer
Nylon Strap

2131600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



)

F] S B B O N Eé}}“}w INSTALLATION INSTRUCTIONS
| &; PART No. FB21316
L

T(
OFFROAD X i
Fits: Fishbone Offroad Tackle Racks

Tackle Rack Bike Mount Brackets

1) MEASURE YOUR BIKE
Begin by measuring your bike from the center of

your front forks to rear wheel.
A4
P, , ‘

Install your wheel chock bracket with the remaining
hardware at your second measurement.

Decide which side of your rack you wish to install
your bike and lay out the measurement onto the
rails.

2) INSTALL THE BRACKETS
Starting with the Cam-Lock Mount, install your
Cam-Lock of choice according to the manufacturer’s
instructions.

Install the mount by lining up the carriage bolt holes
onto your rails, and secure it with the included
carriage bolts, carriage washers, lock washers, and
hex nuts (in that order) with a 19mm socket.

3) MOUNT YOUR BIKE
Remove your bicycle’s front wheel, and secure it to
your installed Cam-Lock.

Note: If you wish to add more rigidity to the mount, you
may install the Cam-Lock Mount to an arch by sharing the

: p Raise the rear wheel and place it into the wheel
carriage bolts that secure the rail. P

chock, and secure it with the included Nylon strap.

2131600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



